Which is the graph of the following matches the function. [image: f left parenthesis x right parenthesis equals 2 x squared  minus 4 x minus 6]
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[image: g left parenthesis x right parenthesis equals x squared  minus 4 x plus 4]
Which of the following is the graph of the ?
[image: ][image: ][image: ][image: ]










 










Which of the following is the graph of                                                            [image: h left parenthesis x right parenthesis equals minus 3 x squared  plus 12 x \  minus 5]
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What are the zeros of the following graphs?
a.                                                                                   b. [image: ][image: ]
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g(z)=2x°—4x +4
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h(xz) =—3xz°+ 12z —5
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